~ 202

24698 ~

BIREZHNITETFE
K

*F = FIEEZE / XAB = AHEHE
*kHNIKY = NI YVHE
*=\’—1157/Z— Fv XTI REE
&an—747-7/7°ﬁg/

X A

(k3 NBV= EREBBINDOIAEE  \|ae—mes T

$1RFRS = 1Sy FYRIT 4 HE BRTARTERED |

*BE -tk = RET <Y BERRE \ 18:30
NF2F3F  18:30

Htn->5<Y  13:00 -4 10:00 VP Tz2@ 17:30 k23 4@ |4:00
X 8 19:15 NFZI3F  18:30 INF 29 1.2% 18:30 INF 2 93F 18:30
ol F 3 19:30
(EEZE = 19:00 |- % 10:00 T3 He 1000 SNF293E 18:30
INFZ293%F 18:30 v ZXF>20 17:30
@‘@ O N INF 29 1.2% 18:30
e R F &% 19:30
“!! VN
9 20 121
. -4 10:00 ¥VUZRFT 2@ 17:30 #2EE 3 46 |4:00
INF 29 3E 18:30 INF 29 |.2% 18:30 INF 2 93 18:30
@ | A B 19:15(198 OFRE)
5@3}' — ﬁ ﬂa F # 19:30
Nag®
...... 26 _ _ _ [ ___21 _ | __28 ]
@EEE& =4 19:00 -4 10:00 SIMH 10:00 EIMBET AR G REG®
INFRI3E 18:30 7 FyXg>2B 17:30 18:30
= INFZ291.2% 18:30 INFZ293F 18:30

F = 19:30

111]1

o,
O



